ITI Fitter 1st Year Module 3 Precision instruments and Drilling
process

(1). How the problem of error in reading due to uniform pressure between the measuring

surfaces is rectified in micrometer? | msaﬁﬂaﬁnmﬁmt«ﬁmﬁ%aﬂamnﬂm
& PR AT H Ffe o1 guw &1 FA i fvar wmar g2

(A) Using ratchet stop | AT WY BT IYIRT BT

(B) Using spindle | Y<1 T SUTNT HIAT

(C) Using barrel / sleeve | W/anwﬁﬂmmﬂm
(D) Using thimble | fael T SUERT BT

Correct Answer : A \’
N

’Sq;& one direction only? | EI'%
ghm?

(2). What will happen in drilling machine if spindle can
fRise Saa us & fozn & go 9 ot fgfei
(A) Spot facing operation cannot be perform
(B) Reaming operation cannot be peif%@ ' aﬁmqqﬁ%mmm
(C) Tapping operation cannot be p fcbﬂed | oft aﬁmqﬁ%mmm

(D) Drilling operation cannot@e ormed | %ﬁlﬂaﬁmﬂqﬁ%mmm

Correct Answer : C $




(3). What is the name of the part marked as ‘X’? | X '%Wﬁﬁﬂ%‘d Q-I'FTWHTHW%?

(A) Spindle | fRIT &fy
(B) Sleeve | &itG X
(C) Thimble | s @*
(D) Spindle lock | ST @i Q:\:b

Correct Answer : C . \
N\

®
(4). Which is an integral part o §ock in vernier bevel protractor? | WW@W
H ¥i® &1 TP SHfHA |1 7?

(A) Disc | f&%®
(B) Dial | STIA
(C) Blade | IS
(D) Main scale | J3T UHTT

Correct Answer : B

(5). Which drilling machine, the spindle head is moved towards or away from the column?

DI 31 FSTRET =i 1, (Risd 7 & Fiad & U 3R g HT AT 8
(A) Pillar drilling machine | fUeR fgfeiT w=iie



(B) Gang drilling machine | ﬁ"T@ﬁl‘Tﬂ?ﬂ:{
(C) Radial drilling machine | %%uﬁ%ﬁmmﬂ'—r
(D) Sensitive bench drilling machine | Hdga=Nd o4 f$feim w=fi=

Correct Answer : C

(6). What is the name of part marked as ‘X’ in drilling machine? | @ﬁmtﬁlﬂ? H'x' & FUH
RIfga ymT ST AT FAT 82

(A) Drill chuck | %?[W
(B) Feed handle | tﬁ@%@ﬁ

(C) Driving motor | @Eﬁﬂtﬁﬁ
(D) Depth gauge and stop | S I 3R Wi

Correct Answer : A

(7). Calculate the tap drill size for M10 x 1.25. | M10 x 1.25 & foI€ U f&@ 1w @1 10T
P

(A) 8.8 mm



(B) 8.7 mm
(C) 8.75mm
(D) 8.65 mm

Correct Answer : A

(8). Which situations zero setting of digital vernier caliper is necessary? | 5= @«Iﬁ'ﬂ‘fﬁ

fSforea affar SirwR ot 3 |fé smaxas 32

(A) While remove the battery from caliper | ST a3} B HeTUR A geT¢
(B) While off the vernier caliper | STdf® af-1aX FAIR 4G

(C) When jaws touch together | STd ST4S TP gaX P A § X

(D) When jaws separate together | \_:WFW%WWQI W%
Correct Answer : C * ®

(9). What is the reading of vernier caliper Wifb*l graduations? | ﬁﬁ‘g’w% 1Y 91l
IR IR ARTRT Q)

&
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(A) 1.068"
(B) 1.459”
(C) 1.418"
(D) 1.409”

Correct Answer : B



(10). What is the spindle movement of one division of thimble with spindle thread of 0.5mm

pitch? | FITs & U fEdiv ot Risa gade w1 gt oia Risa A5 0.5mm A H1 32
(A) 0.01 mm
(B) 0.10 mm
(C) 1.00 mm
(D) 10.0 mm

Correct Answer : A

(11). What is the name of the part marked as ‘X’? | X '%Fqﬁ'ﬁf%_d Q-I'FTWHTHW%?
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(A) Beam | &9

(B) Main scale | T THHT (A WHd)

(C) Fine adjusting nut | T3 TSGR S -C

(D) Fine adjusting slide | T3 USSR S T3S

Correct Answer : D



(12). Name the part marked as 'X'. | X' & 30 # fIfgd 4T &) A7 9d1Q|

L
(A) Anvil | Eﬁa

(B) Thimble | fUvsa \
(C) Spindle | isw %

(D) Spindle lock | fUSH Wl

Correct Answer : A @

(13). What is the name of drilling mam&v%ﬁmmﬂqwqmw%?

(A) Pillar drilling machine | fUeR f$feiT w=fi=
(B) Gang drilling machine | 777 f$feT w=fi=

(C) Bench drilling machine | 99 f&feiT a=fi=r

(D) Radial drilling machine | ¥f&g@ f$femm a=itq



Correct Answer : A

(14). What operation is carried out in a gang drilling machine? | wﬁn%ﬁmmﬁqﬁw
TR foraT SiTe 32

(A) Idle operation | fAfepa dara=

(B) Repeated operation of drilling | %ﬁ'ﬂiﬂm—?ﬂ?m
(C) Continuous milling operation | AR fafeT sif==

(D) Successive operation of drilling | %‘TWWW

Correct Answer : D

(15). Name the part marked as ‘X’ in vernier caliper. | Wﬂ?ﬁ’x’%ﬂﬁﬁ%ﬁ
HRT PTATH ddICE |

N R

N4 : [

b4 2 3 4 8 8 7 2 0 901 %1814 W #7

:

(A) Beam | §HH $‘
(B) Fixed mnr|1‘fb—cﬂ?=ran?$

(C) Depth bar | S TR

(D) Thumb lever | 4 et

Correct Answer : C

(16). Which part in drilling machine is to achieve different speed? | %'I%I‘Tq'slﬂq AP T
YT fafre wife e e & fore 82

(A) Flat pulley | ﬁfgﬁﬁ
(B) Jockey pulley | aﬁgﬁ



(C) Stepped pulley | %%qg?vﬁ
(D) Fast and loose pulley | WQ@'WM

Correct Answer : C

(17). How the wide range of depth can be measured by depth micrometer? | S

ATSoh IHTER §RT SATGT IS B TERTS B S HIUT S AHdT 82

(A) Lengthy sleeve | T TAd & GRT

(B) Lengthy spindle | Tl fFRUSH & gRT

(C) Adjustable base | THTIST 9 & GIRT

(D) Equipped with a set of extension rods | WWW%%W

Correct Answer : D

(18). What is the reading of the outside mlcromet@mmm? | 50 Jd75mmP

Wnﬁﬁﬁaaﬁﬁ%ﬂwév
==
g B w
!IlllllllllIlllllllllllllll E—“
% 10
%f___
(A) 63.63 mm
(B) 63.00 mm
(C) 63.36 mm
(D) 63.13 mm

Correct Answer : A



(19). What is the reading of vernier bevel protractor? | ¥ affaR daa tﬁém CARII Y|

(A) 18°50'

(B) 41°50' &
Q

(C) 50°50’
(D) 58°50'

)\‘.
Correct Answer : B @

(20). Which problem will occurred if ta . ghe is more than that of the tap size? | '!T%%q

3 T PR TUF PR A RGN B ) THwT I gRfte

(A) Tap will be broken suddenl maaﬁm

(B) Tap will not entered t@ | ¢U DG | YA A& B

(C) Tapping operation will not be performed | ¢fUT Ta= FEY fpar sTgm
(D) Tap will be jammed inside the hole | ¥ % 3igX U STH I ST

Correct Answer : C



